Chicago Drainage Canal.

2.—de Prony’s Formula.
Mean velocity—

v = (-0237 + 9966ms)} — ‘1542
= (0237 + 9966 x 19-8 x "000025)} — 1542
= (0237 + 9966 x -000495)} — ‘1542
= (-0287 x 4-9332)3 — ‘1542
= 2997 — 1542
= 2'073 feet per second.

8. —Dupuit’s Formula.

Mean velocity—
10000323 v? = (1 + "225m)

(1 + 225 x 19°8) x 000025
(1 + 4°455) x 0000256

- 0001364
- 0001364
- 0000323
v = 1/47223—= 2025 feet per second.
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v = = 4'223

4.—Chezy’s Formula.
Mean velocity—
e/ mi
= 1001/19°8 x 000025
100§/ 7000495
100 x 02225
2-225 feet per second.

v

i

5.—Humphreys and Abbot’s Formula.

Mean velocity —

v

n

{(o2s Ji— 0388}’
- 19'8 FURY
= {(225x_2_Jom025)i— 0338 }

{ (225 x 99 x 005)% — 0388}
(*/11°137 — -0388)" = (1-827 — -0388 )’
1'788), = 8°'19 feet per second.

6.—Hagen’'s Formula.

Mean velocity—
v=43 Jm 87T

= 439 /158 %/ 00002

=439 x 446 x 171

= 3341 feet per second.
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